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1. Select the correct answer from the following :
1 X 5:5

(a) Thermal (conrotatory) ring opening of
trans-3,4-dimethyl cyclobutene gives

(i) Z,Z-hexa-2,4-diene
(i) E,E-hexa-2,4-diene
(i) E,Z-hexa-2,4-diene
(iv) Z,E-hexa-2,4-diene
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(b)

(d)

(e)
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(2)

The product of the reaction

1) HCN P/HI 4

CeH 1,04 (glucose) i :
2) Hz0" 2, il

is

() D-glucitol
() D-gluconic acid

(it} n-heptanoic acid 2
(iv) 2-methyl heptanoic acig

a-Terpineol is g

() diterpenoid

(ii) monoterpenoid
(1ii) Sesquiterpenoijq
(iv) terpenoiq

Artimisinin ig (©

@

Po/374
( Continued

(3)

UNIT—I

Answer any one question

Draw the MO of 1,3-butadiene
indicating HOMO in the ground and
excited states. 2

Predict the stereochemical outcome
from the following  electrocyclic

reaction : 1
[rase] ST
CHz H CHj

2E, 4Z, 6E octatriene

The Diels-Alder reaction is a concerted
[4 +2] process. It proceeds with retention
of configuration of both the diene and
the dienophile. Explain with suitable
examples. 1+1=2

Complete the following reaction and
suggest the mechanism : 2

O/\/

200 °C
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( 4 ) (5)

- UNIT—II
3. (a) Predict the stereochemical products

obtained in the following electrocyclic Answer any omne question

reactions : =

- 1x21 4. (a) Sketch the stable conformational

(i /e H>H CHj fig structure of a-D-mannopyranose. 1
e

\_~ CH disrotatory = (p) How would you methylate the —OH

X groups of a-D-glucopyranose other than
enomeric —OH group? 2

(ii) @ _h_v_;, 2 (c) How is the configuration of D-glucose
CHs gy CH3H dshofitery determined? Explain. 3

Or

b : :ccuss the pyranose structure of
() What is a symmetry forbidden reaction? 2 £

: -glucose.

With the help of FMO approach, show D-glis FEALG : :

that [4+2] cycloaddition is photo- i (d) Define  epimerization. Exptlam it

chemically forbidden. 1 +243 considering the converslion of
D-mannose to D-glucose. 1+2=3

e s A ostion ¢ } ) What happens when D-erythrose is
Me\ls 5 subjected to Ruff degradation? 2

cliide B
Me =
5. (a) Convert D-fructose to D-glucose and
. : ose.

(d) What diene and dienophile would vou o : | 2
employ to synthesize e follow);ng (b) Complete the following reactions : 9

compound? | HCN
i D-Erythrulose ——> Epimeric cyanohydrin

1) Ba(OH)2 Hl/red P

0
Me L) pat 2 5 Epimeric polyhydroxy
.‘ 2) HpS04 carboxylic acids
2-Methyl substituted
Me
O

carboxylic acid
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7 )
(6 ) (

7. (a) What are coenzymes? Discuss their
() How would you establish the rif8 R 1+1=2

structure of D-
of D-glucose? () Write in brief about the Watson and

(d) Glucose and fructose give sameé Crick double-helix model of DNA. 3
osazone. Explain giving reactions. () What do you mean by the terms
‘ranscription’ and ‘translation’™ o
R (d) How are the following compounds
Answer any one question related? 2
6. (a) Draw the structure of the followin® Adenosine and AMP
(any one) -
(i) dADP UNIT—IV
(ii) ATP 8. (a) Write in brief about the medicinal
(b) Synthesize importance of curcumin. 2

one  important pu“ne

A and RNA (b) Synthesize chloroquine using the
an .

(¢) Identi following sequential steps : 1+1+1=3
dentlfy the base and monosac chafide
used to form th

Step I AAE to 5-diethyl amino

2-aminopentane
Step 11 : m-Chloroaniline + Oxalyl acetic

e following nucleosi
it :

i ester — 4,7-dichloroquinoline
ey N Step I 4,7-dichloroquinoline +
| * 5-diethyl amino, 2-amino pentane —
HOH,¢ 0 s Chloroguine
ke -
OH Give the preparation of the following :
(d)  What is g 1Y%x2=3
S i - -
" OP codon? Give example- () Sulph aguanidine from acetanilide
7 rit; :
I'Epli?:’ Ho the DNA molecule is (ii) Ibuprofen by using green method
ated during cell diViSiOn,
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( Old Course )

What are antipyretics? Synthesize 2
drug which is used to bring down body

Full Marks : 48
P s s call e LY

\' “ temperature during fever. Pass Marks : 19
| |
B : ‘4 1 (d) Write down the laboratory synthesis of Time : 3 hours
s A \ chloramphenicol. th
swer/Answer e
[ Wk 1 1. Select the correct an / 1x5=5
| gy % 8 UNIT—V following
|a TR 8| ined during the
"I‘ Rieglio l 9. (a) Synthesize citral starting from acetylene (@ The product SkiE
)' CoreErd & and acetone. thermal reaction
i, " | NN |
A | or O ety
] L-.. | '. Complete. the following oxidative cfi; H H
TR ' degradation reactions of a-terpeniol :

octatriene
1% alk. CrOg 2B
o-Terpineol ———— > A trihydroxy —— 5

el ' SO compound is
é :/f’ Y i Ketohydroid =2 Kettcme warm, alk. KME% )
i ..;:-‘;'”‘ Y |

Y i i KMnO

B A R 0
-. SR ‘e Terpenylic acid ———— 3 Terebic acid + CHSCO "
QR : @ (i)

|9 g L
I 4
e \ (b) What are geraniol and nerol? | (iti) @

y

J: l r S \ () Find out A and B in the followin® H H
| | \ reaction :
x i | B
‘ ‘ = (iv) 2

\( + m(o —s MeMgBr B
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